
diviser par 10, 100, 1 000

1 16  10 = 1 reste 6 1 95  10 = 9 reste 5
2 60  10 = 6 reste 0 2 39  10 = 3 reste 9
3 78  10 = 7 reste 8 3 100  10 = 10 reste 0
4 98  10 = 9 reste 8 4 49  10 = 4 reste 9
5 53  10 = 5 reste 3 5 19  10 = 1 reste 9
6 12  10 = 1 reste 2 6 61  10 = 6 reste 1
7 71  10 = 7 reste 1 7 37  10 = 3 reste 7
8 10  10 = 1 reste 0 8 51  10 = 5 reste 1
9 27  10 = 2 reste 7 9 27  10 = 2 reste 7

10 78  10 = 7 reste 8 10 27  10 = 2 reste 7

1 112  10 = 11 reste 2 1 217  10 = 21 reste 7
2 264  10 = 26 reste 4 2 405  10 = 40 reste 5
3 175  10 = 17 reste 5 3 427  10 = 42 reste 7
4 160  10 = 16 reste 0 4 301  10 = 30 reste 1
5 438  10 = 43 reste 8 5 173  10 = 17 reste 3
6 488  10 = 48 reste 8 6 244  10 = 24 reste 4
7 265  10 = 26 reste 5 7 610  10 = 61 reste 0
8 252  10 = 25 reste 2 8 145  10 = 14 reste 5
9 174  10 = 17 reste 4 9 150  10 = 15 reste 0

10 165  10 = 16 reste 5 10 666  10 = 66 reste 6

1 861  100 = 8 reste 61 1 937  100 = 9 reste 37
2 494  100 = 4 reste 94 2 200  100 = 2 reste 0
3 654  100 = 6 reste 54 3 230  100 = 2 reste 30
4 107  100 = 1 reste 7 4 556  100 = 5 reste 56
5 812  100 = 8 reste 12 5 627  100 = 6 reste 27
6 319  100 = 3 reste 19 6 549  100 = 5 reste 49
7 996  100 = 9 reste 96 7 627  100 = 6 reste 27
8 228  100 = 2 reste 28 8 478  100 = 4 reste 78
9 601  100 = 6 reste 1 9 903  100 = 9 reste 3

10 134  100 = 1 reste 34 10 251  100 = 2 reste 51

1 32 098  1 000 = 32 reste 98 1 81 367  1 000 = 81 reste 367
2 95 787  1 000 = 95 reste 787 2 27 822  1 000 = 27 reste 822
3 79 519  1 000 = 79 reste 519 3 61 168  1 000 = 61 reste 168
4 76 270  1 000 = 76 reste 270 4 11 770  1 000 = 11 reste 770
5 53 984  1 000 = 53 reste 984 5 68 060  1 000 = 68 reste 60
6 80 130  1 000 = 80 reste 130 6 26 172  1 000 = 26 reste 172
7 3 035  1 000 = 3 reste 35 7 20 892  1 000 = 20 reste 892
8 3 015  1 000 = 3 reste 15 8 62 147  1 000 = 62 reste 147
9 69 132  1 000 = 69 reste 132 9 54 101  1 000 = 54 reste 101

10 14 301  1 000 = 14 reste 301 10 80 085  1 000 = 80 reste 85

G. Divise par 1 000. H. Divise par 1 000.

A. Divise par 10. B. Divise par 10.

C. Divise par 10. D. Divise par 10.

E. Divise par 100. F. Divise par 100.
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diviser par 10, 100, 1 000

1 16  10 = 1 reste 6 1 95  10 = 9 reste 5
2 60  10 = 6 reste 0 2 39  10 = 3 reste 9
3 78  10 = 7 reste 8 3 100  10 = 10 reste 0
4 98  10 = 9 reste 8 4 49  10 = 4 reste 9
5 53  10 = 5 reste 3 5 19  10 = 1 reste 9
6 12  10 = 1 reste 2 6 61  10 = 6 reste 1
7 71  10 = 7 reste 1 7 37  10 = 3 reste 7
8 10  10 = 1 reste 0 8 51  10 = 5 reste 1
9 27  10 = 2 reste 7 9 27  10 = 2 reste 7

10 78  10 = 7 reste 8 10 27  10 = 2 reste 7

1 112  10 = 11 reste 2 1 217  10 = 21 reste 7
2 264  10 = 26 reste 4 2 405  10 = 40 reste 5
3 175  10 = 17 reste 5 3 427  10 = 42 reste 7
4 160  10 = 16 reste 0 4 301  10 = 30 reste 1
5 438  10 = 43 reste 8 5 173  10 = 17 reste 3
6 488  10 = 48 reste 8 6 244  10 = 24 reste 4
7 265  10 = 26 reste 5 7 610  10 = 61 reste 0
8 252  10 = 25 reste 2 8 145  10 = 14 reste 5
9 174  10 = 17 reste 4 9 150  10 = 15 reste 0

10 165  10 = 16 reste 5 10 666  10 = 66 reste 6

1 861  100 = 8 reste 61 1 937  100 = 9 reste 37
2 494  100 = 4 reste 94 2 200  100 = 2 reste 0
3 654  100 = 6 reste 54 3 230  100 = 2 reste 30
4 107  100 = 1 reste 7 4 556  100 = 5 reste 56
5 812  100 = 8 reste 12 5 627  100 = 6 reste 27
6 319  100 = 3 reste 19 6 549  100 = 5 reste 49
7 996  100 = 9 reste 96 7 627  100 = 6 reste 27
8 228  100 = 2 reste 28 8 478  100 = 4 reste 78
9 601  100 = 6 reste 1 9 903  100 = 9 reste 3

10 134  100 = 1 reste 34 10 251  100 = 2 reste 51

1 32 098  1 000 = 32 reste 98 1 81 367  1 000 = 81 reste 367
2 95 787  1 000 = 95 reste 787 2 27 822  1 000 = 27 reste 822
3 79 519  1 000 = 79 reste 519 3 61 168  1 000 = 61 reste 168
4 76 270  1 000 = 76 reste 270 4 11 770  1 000 = 11 reste 770
5 53 984  1 000 = 53 reste 984 5 68 060  1 000 = 68 reste 60
6 80 130  1 000 = 80 reste 130 6 26 172  1 000 = 26 reste 172
7 3 035  1 000 = 3 reste 35 7 20 892  1 000 = 20 reste 892
8 3 015  1 000 = 3 reste 15 8 62 147  1 000 = 62 reste 147
9 69 132  1 000 = 69 reste 132 9 54 101  1 000 = 54 reste 101

10 14 301  1 000 = 14 reste 301 10 80 085  1 000 = 80 reste 85

E. Divise par 100. F. Divise par 100.

G. Divise par 1 000. H. Divise par 1 000.

A. Divise par 10. B. Divise par 10.

C. Divise par 10. D. Divise par 10.
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